—O00ogbgg cieod bbb obougogo

gogn T20 000000 cueod b oon
goooooo
goon gooboobobobooooon
HEN 53.90/00 O
gogn go:0odd
0 0:T2 C11000 O O
go:0oo
godn goobbobbobuodogddnEer3D 82220
goon 13763211918 13652623788
HREREEN

gobboobbodoodoboboT2000 ., bboobboodg . crlo oo, ggoboooo
gooo

gobbbcioT20 00

UoO0000O0e-150mm

goboooooooon

gobbooboooooad

gopboobooobobood

goggg

O +0 Cu+Agll = 99.90
00 Sn0 < 0.002

00 zZnO < 0.005

O Pb < 0.005

O NilJ < 0.005



0 FeD < 0.005

0 Sbd < 0.002

0 SO < 0.005

0 AsO < 0.002

0 BiO < 0.001

0 OO < 0.06

OO0<01(00)

0oooo0oooooon
0000000000000000000,000000000000000000000,00000

gobbobobboooooobooboboog* ggr bbooobobooga=grobbboooooon
goooboooogd


http://www.tcpdf.org

